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35 fou fsgent & fors &% ug M3 Gust & uBe a9

* A9 YRS &AMt 35 | YRt feg fe'st aret niegat 9 § fows 5% Su I fagen migAa
I& digr A<

* AE M3 Hu fafteur A2

* Aot yAs &9 fay a €99t § fows aw €39-FHle 3 et e

F91-1: UFS RS (Part-I: Reading Skill) 8+8+7-23
1. I3 fou =93 U7 § fors &% ug M3 BUst € JaT Ug I gg-feasut yrst © €39
Cuat feg o= o fy . (8x1-8)

g3t JAght @7 He 98T B 95 | fAg UAght & §U € Hers fE9 wust I3 & Hdd
feue g5, €9 €87 & Ia-Aestit yzt 9 wuS Adld an & Eaht f&9 wust 3z &
BIT Ha=feouT T | AT et 8 437 7 fugas BT 3T wmidat u3T wifaatut <t 9%, frastmt
A3 ftes @ wfod #iar satt 9%, fas Ifewt it U3t yafeg ootdt g, €2 It gt &bt
Myt 43T Yfft 9 fAgt & a3 & G muer H&drs dae ™ 39 I& | Ul® ustwaT fsds
Ug dfewt € 43 I few a3 § 339, 37 uswaT 7 ‘@F-ysar & faor Ater J1 few
U3 ‘gU-g08l M3 ‘AT S U &% Tt g€ 39 Hee-geet I fev gz gt 93 ust
A TBtus JIfen ug § v I €3 s I o g Ay © 99 & d u3e x| few dua

g € »ée Hee ¥4 wid <t fist f<9 e A Aae I5|
(i) At & ydt gahit fE9 »ust 3ag & &0 fae Haefomr J7

(A) 9T F9d (B) 48T ¥ &

(C) H&IHE FId (D) ugTer JId

(ii) WiS-UsuET 83 favmegg fagt gar 83t At 9—

(A) Jggmt gmrar (B) ggadr ©mTaT

(C) Hfemtat gwrar (D) fags Ug dfewt gwrar
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(iii) VI-yshwaT 8§38 =09 F9d I g3t At I—

(A) FeetHt f&9 (B) ggn3 feg

(C) It 39 (D) A9 Wt 39

(iv) Wig-usugT § 39 faggr & fégr fapur I7

(A) 37 uswaT (B) A& u3ar

(C) 333 (D) Gudaz A9

(v) Wis-yswar 83 faost 8% &% et de 39 fiset-aset 93—

(A) &5 ¥Sdr (B) 8U-8UEl &8

(C) &8 &% (D) (A) M3 (B)

(vi) UlB-uswET fdat Gva € 99 s a U3¢ T& 7

(A) 5 F 7 B) 4 T 5

(C) 6 T 10 D) 2 3 3

(vii) drAmdtot @7 He-3@er A &t I 7

(A) 9t arer (B) 9T

(C) ugaT (D) =T

(viii) ‘@i8g’ e af »9g I—

(A) Hgr (B) =S

(C) "33 (D) ger
FI1-2: YIB! fSye-adms (Part-II: Writing Skill) 8+7=15

2. I uS-fsit da=s TI ISt Ales €T fsad & WUS GargT RS I8 S-S
g5 BT U39 foy| 8
qt

B4l Ad6® Hed,A%Ud 8 HAd Uhivg =5 Juat, fEat & fea u3q fau fan f<g & fa

WMISd 13T & A%Ud AN AT &t udfemr I

fan ffa few ‘I 125 3 150 muet &9 Ugr-gos 49| 7
fergdbnt feg wndfirr € g=aT
|
feferaat w3 HeeEl® <&
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gar-3; fegda femads (Part-III: Grammar) 3+10-13

4.

TF-gEdr

I feu Tt &9 fan f§s =t © §gc fiu €3 I fagemt wigHg Tg-=zeied

g | (3x1)3

(i) ¥ &=7 Aged udteer Tger ol (fHAfeg == we§)

(ii) frge WF T §9 & U® Foer T (ST T §EE)
(iii) A€ W Ag® udfewr 3t et <7 It (Fges @9 9e79)
(iv) 99 ¥8A3 g Ulst aret| (FEsdet @9 9e76)

myTE /Myt
J& f&3 o wuet &9 fan dm wyer § fem 39t = f&9 =93 fa Qo

€ Afgst AuAe I Ae— (5x2)10

(i) fea €9 &= ® =7 ¥¥r

(ii) fefenr feget 3t uysuamt

(iii) f€s gform o Afenm

(iv) dg & T&t ggr f3gret

(v) gfg @& yfemt 3t yo <t foge A€ I

(vi) MU TES® 3§ dT 3T

Afdg 4 : (US-UASE M3 Yrs) 8+4+6+5+8+5+8-44
(Part-1V: Text Books based questions)

dfeger feg 12
6. d& 3t aehdt afe-cagtut &9 fan @ & yrar Afgs fewrfumm d—3+5-8

g ge, dfgg T A, 39 = H H A=
g¢ g¢ g% € de3,

Ae fafe3, fegaHs W=t

T oMust W = Gam,

€n ©F 8 67 T udgg=r|
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Hr
2 Tgoer femr eaahdr!
&5 Ja musT AT
Wid 8 FW feghyt 3 By & I S|
for & I\t ushwt feg &3t afos a=m|
3 Gust uehyt waz & faar ust T

7. 35 fou sgfeamit yrst @ mat €99 9= F fmg— (4X1)-4
(i) ‘9z’ fSg dat ==t o < a=<r fag € =t It wt?
(A) &g &t (B) it =t
(C) 3F &t (D) m@Htam &t
(ii) ‘Tfodt & g9 &t &3 fom &% dec st fagr fopur F?
(A) H3tt &% (B) a@tt &%
(C) g&™=" &F (D) 8&" 3%

oy

(iii) ‘ST He®’ Ffez f&T faoz A e yepes fdsT um J7

(A) I3 € (B) HH €T
(C) A=T =T (D) ggATI ©T
(iv) ‘Feag &= g fda sHa »ret ?
(A) W=t €3 (B) west €3
(C) mmmt &9 (D) efer=t € Jfemt €3
aaemt &g 6+5+8-19

8. ‘AY guel feg 7A€ % U9 T AEES AST UeHd H&3IT € FAT SW Fer
I 3t {SH9 HEIT € He &9 6w ¥9 ot fegg we g5 w3 ww &9 o3 9 =%
feraat fag fagr mt? 125 3 150 wmaer fSo fau 6
ey
395 feud wigAd ‘War g guel &9 faust mifaa mifrm A Afest & yarefenr
famm § €7 99 125 3 150 muer f&9 wWust afe fe§|
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9. J5 feu wg-feamut yast € mat €39 s T fou— (5X1)=5

(i) Mg &t HT & #HIZ € uydge <« ¥8T &9 menit € faa gue ue?
(A) fapumat  gue (B) feat gue
(C) feaat gue (D) U7 Jue

e A SN

(ii) §eng & fom a8 Un rare €3 &t Y7 7 & 39 A’

(A) femg (B) H&™T
(C) »ntat (D) dadt
(iii) d< feg faafes gger T fa #a-dg €0 ust =gar J°?
(A) By (B) B4 € 3dd
(C) 3ya & u3at (D) BYd & IAEPAT
(iv) ‘HaT g8 duel Byd € g7 € U39 fou weng Bfarr Jfewm At?
(A) HA&T €839 (B) yElee quat
(C) M At 3t (D) Fowg fegmr
(v) 72 & Sfont &t AT fd& == Gor fenr famr?
A) 35 =# (B) 879 =+
(C) )& =+ (D) HaA g3fent Ag ot
(vi) ‘318 faa fest 3 gt At?
(A) € fea (B) f3& fes
(C) 87 fes (D) Uw fes
10. 35 &3 ynst &9 fam ¥w yast € €39 25 I 30 muer &9 fsg—  @x2-8
(i) Uerg gt Het § Un &7 € Aae © faos-fags I9s Aeer J7
(i) <& &F H3 I gie EIBT @ Ufast T9 Bua € wa WEs @r =T fef|
(iii) Bua fggw =B T9s T It fosr & fam-fam 3 saGer wger H?
(iv) M3 € feer I A GFe 9 & wue g9 af e wfenr?
(v) TIHEPHY T8 JITEIY & AT A'E 8T I3 (AF) € WiET =& AN € gdeHe! 939
fa= fuifenr?
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dat dWfenmag & Ac-uge 13

11.

12.

fog |

J5 feu wg-feamit yast € mat €39 s T fou— (5X1)=5
(i) 4o € WO1& © mute® fes fausr 389 wafewr wfer J°

(A) st (B) 73 UaMt

(C) BIst (D) A&H MHeHt

(ii) fog & fes Uar a9s BTt df Je<femT d7er At ?

(A) It (B) #8H

(C) ful (D) AT

(iii) ‘B s UFet mAfgst 3 Afgwsg e faosT #er 957

(A) AT (B) goHgan &t

(C) A8 wafedt <t (D) g=xret &t

(iv) faos Ba-a9 y& qu <9 fAg af it e &9 T ?

(A) mHt (B) 9

(C) st (D) TS

(v) fam a3 9 Hiet €= =% »uye J8 dAt &dT €35 Aaer?

(A) ged J18 < (B) 3= firet f&T

(C) Hag foat <= (D) Iust <9

g f&3 ymst &5 fam € ymst € €39 60 3 70 muer I fou— (2X4)=8

(i) 3TF WMEHT B 437 € MBY I& € & 96 & M3 fegst § fa= gorfenr AT Aaer

(ii) 7Y € &9 &97 € T99Nd9s fa= dI3T A7 AgeT J 7 fen §9 wWust AY g% »gAd

(iii) fom A=t e Hfe™ €7 af HI3= T AaeT 37 @8i%T Afggd must Ji% AUES 99d |
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